CS }ﬁg/ﬁata Structures
Spring 2003 - Dr. George Bebis
Midterm
Duration: 1:00 - 2:15 pm

Name:

1. True/False (5 pts each) To get credit, you must give brief reasons for your answers !!

1.H T @An objective way to compare two algorithms is by comparing their execution (i.e.,

machine) times. u &e !? '5 ) O /7) m QM/’)&Q

(1.2) T@The running time of /nsertltem (unsorted lists) is O(N)
ks 000 (i.e) nsent at He eud )
dor g droed

(1.3) T@Suppose A is declared as int A[5],. If the base address of the array is 100 and integers
take up 4 bytes, the address of A[2] is 110.
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(1.4@17 Given the declaration int x=5, *ptr, then the statement *ptr = &x; in main() will cause

an erfor. / /\ M res




2. Multiple choice (5 pts each)

(2.1) The order of adding 1 to each element in a one dimensional array of N integers.

(a )0(1)

(e) O(N?)

(2.2) Which of the following C++ class member functions should be provided if class objects
point to dynamic data ?

(a) a destructor

(b) a constructor
(c) a copy-constructor
((e)a b andc e

(2. 3) To use the template construct you must put which of the following expressions before the
class definition?

(a) class template

b) <template, class..lte e>
@template <class ltemType>

(d) <template <class ltemType>>

(2.4) Given the function definition a
void Twist(int& a, int b)

{int c; ' rgj § E

c=a+2;
a=a*3;
b=c+a;
!

what is the output of the following code fragment that invokes Twist ?

r=1; C

s=2;

t=3;

Twist(t, s);

cout<<r<<’’<<sg<<’' '<<t<<end
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(b)y5143

(c)1103
©) none of the above

3. Short answer (5 pts each)

(3.1) Describe the running time of the code segment shown below in terms of big-O. You can
assume that each list contains N elements. To get credit, you must justify your answer.

UsortedType<int> list1;
SortedType<int> list2;

sum=0;

for(i=0; i<N; i++) { | N ”HVWO O[N) = O/’YZ/)

if(llist1.IsFull()) ' —

list1.Insertltem(i); — Q(’D YW o
if(list2.IsFull()) 5 aw) O(N)

list2.Insertltem(i)
}

(3.2) 2D Arrays can be allocated either statically or dynamically. Are static and dynamic 2D
arrays stored in memory the same way? Explain. Why is the number of columns required in the
function prototype/heading when passing a static 2D array as a parameter to a function?

(outic Ol ke 96@»@74 Spved Y
Y)'\@Mor’a «, 1D aw /

aw D [ L) < avaD [ irbeb+5 ]

Py
) W"J@
M e
u At é@ WOWW/ |
#% ooy I @ yvevitw Sades N Qﬂ%>




4.

(3.3) Demonstrate the binary search algorithm on the list (array-based) shown below. The ele-

ment to be retrieved is 10 (Note: I do not want the code).
( ) f<f - Shep
INIT ITER 1 ITER 2 £ ITER 3 ITER 4 \
‘ 4 m ~ To 5 wnot
{giwm@om -3 0/ 30 3 0] 30 ?«;’030 ol 30
1031 M 1 31 1) 31 1 31 1 31 M fLe
2l a4 Ly s a4 2| 44 2| 44 2| 44 @WWQZ /
m%_m% 3 54 354 3| 54 3 54 3154 s
4| 96 4| 96 4|96 4 96 4| 96
51101 51101 51101 5101 51101
(g: W__,,% 61220 61220 6220 6220 61220

(3.4) In programming assignment 1, you implemented an algorithm to compute the negative of
an image. Describe in simple words how this algorithm works. What is its complexity using big-
O notation? Justify your answer.
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(3.5) Is the linked-list implementation of a queue always more efficient (in terms of memory)
than the array-based implementation ? Why or why not ?
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4. Code (15 pts) Implement a client function called copyStack that copies the contents of one
stack into another. The function must have two arguments of type StackType, one for the source
stack and one for the destination stack. The order of the elements in the two stacks must be iden-
tical. The specification of StackType is given below (please note that no copy constructor is pro-
vided).

template<class ltemType>
class StackType {
public:
StackType();
“StackType();
void MakeEmpty();
bool IsEmpty() const;
bool IsFull() const;
void Push(ltemType);
void Pop(ltemType&);
private:
NodeType<itemType>* topPtr;
3

}/oid copyStack(StackType<ItemType> sourceé&, Stacktype<ltemType>& dest)

StackType<ltemType> tmp;
ItemType item;

whiie(!source.IsEmpty()) {
source.Pop(item);
if(!tmp.IsFull())
tmp.Push(item);

dest.MakeEmpty(); P (‘fem}
while(!tmp.IsEmpt Eup. rof )
if(!dest.lsFuu()’)“{w‘)‘“'/ v /

dest.Push(item);
source.Push(item);

}
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5. Code (15 pts) Implement the copy-constructor for the class UnsortedType. The specification of
UnsortedType is given below.

template<class ItemType>
class UnsortedType {
public:
UnsortedType();
“UnsortedType();
void MakeEmpty();
bool IsFull() const;
int Lengthls() const;
void Retrieveltem(ltemType&, bool&);
void Insertitem(ltemType);
void Deleteltem(ItemType);

void ResetList(); L )
void GetNextltem(ltemTyped&); ¢ W ag )
bool IsLastltem() N
private: | # |
o U—&M T‘%ye kb ;

int le

)

e v
o e curreat fos;

ltemType> ae
tl.?rrg%lftied<'l?;?)seiltengpe>: -UnsortedType(U nsortedType<itemType )

length=s.length;
currentPos = r.currentPos;
info = new itemType[length];
for(i=0; i<length; i++)
info[il=s.infolil;

el

AL e




